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MY S (3R 1 X))
o|=- =R B
5.336 4504 8.574 2.04 2 0.752
X 8.4 X 5.3 X 5.1 X 4.1 X 6.6
1.018 8.306 6.82 8 8.305 2.77 8
X 5.9 X 8 X 9.3 X 9.5 X 3.8
3.24 2 8.312 4.87 6 5103 4,616
X 9.8 X 3.3 X 6.5 X 5.5 X 9.3
7.258 3.02 6.78 3 3.74 6 9.392
X 9.4 X 6.5 X 8.2 X 7.9 X 5
1.25 7.604 5205 4.41 2 7.564
X 7.4 X 6.1 X 7.9 X 9.9 X 3.2
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AT M (3RS KBS

0| E:

5336
x 8.4
44.8204

1.018
X 5.9
6.0062

3.242
X 9.8
31.7716

7.258
X 9.4
68.2252

1.25
X 7.4
9.25

4.50 4
X 53
23.8712

8.306
X 8
66.448

8.312
X 3.3
27.4296

3.02
X 6.5
19.63

7.604
X 6.1
46.3844

8.57 4
X 5.1
43.7274

6.82 8
X 9.3
63.5004

4.87 6
X 6.5
31.694

6.78 3
X 8.2
55.6206

5.205
X 7.9
41.1195

=Rt

2.04 2
X 4.1
8.3722

8.305
X 9.5
~ 78.8975

5103
X 55
28.0665

3.746
X 7.9
29.5934

4412
X 9.9
43.6788
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X

X

X

.
SEe

0.752
6.6

4.9632

2.77 8
3.8

10.5564

4.61 6
9.3

42.9288

9.392
X 5
46.96

7.56 4
3.2

24.2048
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